
CAPACITY-BUILDING PROJECT                    DEVELOPMENT FRAMEWORK
Form A: Identifying On-Ground Actions that Depend on Capacity-Building Investments  
We define ‘on-ground action’ as any behaviour by an individual, organisation or agency that directly affects the condition of natural resources or how they are used. In some cases this behaviour involves adoption of on-ground actions as they tend to be conventionally understood, like planting trees or building fences. In other cases, the behaviour may be more management-oriented, like more sparing use of water. One purpose of this Form A of the Capacity-Building Project Development Framework is to identify which of these sets of on-ground actions depends for their successful implementation on capacity-building activities that need to be resourced from your organisation’s investment budget for the coming year. The other purpose is to identify the value of investments in ‘general’ capacity-building activities that need to be resourced from that investment budget (i.e. capacity-building activities focused more broadly than the sets of on-ground actions considered in this form).
A1
Is your organisation sufficiently informed about future funding of its investment program to plan at least part of that program for at least one year ahead?

 FORMCHECKBOX 

Yes: go to Question A2
 FORMCHECKBOX 

No: go to Form D of the Capacity Building Project Development Framework.
A2
Future funding of your organisation’s investment program
(a) Over what future years is your organisation sufficiently informed about funding of its investment program to be able to plan at least part of that program?
_________________
(b) What level of investment funding is your organisation sufficiently sure of having available in each of these years that it can now plan with reasonable confidence how it will be invested? 
Insert your response for each of these years into the table below. Do this only as far forward as the latest year where funds will be invested in on-ground actions whose successful implementation depends on capacity-building activities undertaken in the coming year (Note: ‘coming year’ refers here and elsewhere in the Capacity Building Project Development Framework to the earliest of the years covered by the response to part (a) of this question.)   
The table has space for up to five years ahead, Add further rows if required. Calculate the sum of the annual investment funding levels that have been specified and insert this value in the last row of the table. We refer to this sum henceforth as your organisation’s ‘total investment budget’.
	Years into future
	Actual year (e.g. 2011-12)
	Expected budget for investing in projects ($ million)

	1
	
	

	2
	
	

	3
	
	

	4
	
	

	5
	
	

	Total investment budget
	
	


(c) Justification and information source(s)
A3
Allocation of your organisation’s total investment budget

(a) Identify the groups of similar on-ground actions (e.g. fencing remnant native vegetation) to which funds from the total investment budget calculated for Question A2(b) will be allocated for the purpose of achieving implementation of these on-ground actions. 
Included in the groups of on-ground behaviour are any groups that are part of projects that have already been developed using INFFER. Space is provided in the table for 8 groups of on-ground actions, coded “og1” to “og8” (add further rows and codes as needed).

(b) For each of these groups of on-ground actions estimate the quantity of actions (e.g. hectares, kilometres, etc.) that will be implemented given the available investment budget. Insert these estimates in the relevant cells of column B of the table below.
(c) Estimate the allocations from the total investment budget calculated for Question A2(b) that are needed to achieve implementation of the various groups of on-ground actions that was quantified when answering (b). Insert these estimates into the relevant cells of column C in the table below. 

(d) Estimate the allocation from the total investment budget calculated for Question A2(b) to undertaking general capacity-building activities (i.e. capacity-building activities focused more broadly than any individual group of on-ground actions considered in parts (a) to (c) of this question).

Insert this estimate into the relevant cell of column C in the table below.

(e) Add the entries for column C, insert the resulting sum into the ‘Total investment budget ($)’ cell at the bottom of column C of the table below, and check that this sum is equal to the total investment budget calculated for Question A2(b). 
When this sum does not equal the total investment budget calculated for Question A2(b), you need to revise the relevant entries in columns B and C (and possibly A) in order to remove the discrepancy.
(f) For which of the groups of on-ground actions listed in the table does successful implementation depend on capacity-building activities undertaken during the coming year? 

Identify these groups by ticking the relevant rows of column D. Responding to this question involves assessment of:

(i) whether shortfalls exist in the capacities needed to implement each group of on-ground actions; and, where such shortfalls do exist,

(ii) whether efforts to fill these shortfalls need to occur during the coming year given the likely lead times involved.
	A
	B
	C
	D

	Groups of on-ground actions (og1-og8) to be achieved over the period covered by the total investment budget, and general capacity building
	Quantity of actions (e.g. kms, ha, etc.)
	Est. allocation from total investment budget ($) 
	Implementation depends on capacity building activities undertaken in the coming year?

(Tick if ‘yes’)

	og1  
	
	
	
	

	og2  
	
	
	
	

	og3  
	
	
	
	

	og4  
	
	
	
	

	og5  
	
	
	
	

	og6
	
	
	
	

	og7
	
	
	
	

	og8
	
	
	
	

	General capacity building
	
	
	

	
	Total investment budget ($)
	
	


A4
Explain how the total investment budget was allocated between achieving on-ground actions and undertaking general capacity-building activities
The response to Question A3 involved specifying how your organisation’s total investment budget will be allocated between (i) achieving implementation of on-ground actions within the period covered by that budget, and (ii) undertaking general capacity-building activities. You are asked to explain here the balance reached between (i) and (ii) when making this judgement. 
A5
For which sets of on-ground actions is it appropriate to develop distinct projects? 
Some of the groups of on-ground actions that were identified above (with ticks against them in column D) as depending for their implementation on capacity-building activities undertaken in the coming year may include subgroups which differ sufficiently in their capacity-building needs that it may be appropriate to develop separate projects for them. These subgroups may be distinguished in various ways; for instance, according to the district or subcatchment where they would be implemented, or according to who would be doing the implementation (e.g. private versus public landholders).
(a) List in column B of the table below the groups and subgroups of on-ground actions for which it is appropriate to develop distinct projects, and insert codes for each in column A.
Only those groups of on-ground actions that were ticked in the table above should be considered when answering this question. 

The groups and subgroups listed in the table below are referred to similarly as ‘sets’ of on-ground actions. Indicate in the rightmost column of this table if INFFER has already been used to develop a project for a particular set of on-ground actions.

When describing subgroups of on-ground actions corresponding to a particular group, provide enough detail to distinguish the subgroups. Coding of subgroups should be based on the code for the relevant groups; e.g. subgroups of a group coded og1 could be coded og1_1, og1_2, etc. There is space in the table to list 8 sets of on-ground actions. Add further rows to the table if required.
(b) Specify in column C of the table below the quantity of on-ground actions expected to be implemented within each of the sets listed. 
For those groups of on-ground actions you have not split into subgroups, transfer into the table below the relevant data from column B of your response to Question A3. For each group that you have split into subgroups, apportion the data in column B of your response to Question A3 for that group between the subgroups and insert the apportioned data into the table below.
(c) Specify in column D of the table below the estimated allocations from your organisation’s investment budget to each of the listed sets of on-ground actions, and then calculate the total allocation from this budget to these sets of on-ground actions. 
For those groups of on-ground action you have not split into subgroups, transfer into the table below the relevant data from column C of your response to Question A3. For each group that you have split into subgroups, apportion the relevant data from column C of your response to Question A3 for that group between the subgroups and insert the apportioned data into the table below.

The allocations to the various subsets within a set should sum to the allocation previously estimated for the corresponding set (i.e. when answering Question A3).
	A
	B
	C
	D
	E

	Set code
	Set of on-ground actions
	Quantity of actions
	Estimated allocation from investment budget ($)
	Project already developed using INFFER? (Tick if ‘yes’)

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	Total estimated allocation from your organisation’s investment budget
	
	


A6
What capacity constraints need to be alleviated for successful implementation of each of the sets of on-ground actions listed in the table above?
Consider the sets of on-ground actions listed in the table above. For each of these sets, identify in the table below:

•
the capacity constraints that need to be alleviated for successful implementation of these on-ground actions at the specified scale (2nd column of table) ;

•
the available evidence that these constraints exist and are serious enough to be worth alleviating (3rd column); and

•
why it is timely to alleviate these capacity constraints during the coming year (i.e. why it is not too early or too late to alleviate these constraints given the timeframe within which implementation of the on-ground actions is required) (4th column).

There is space in the table to list 8 sets of on-ground actions and 3 capacity constraints per set of actions. Expand the table if required.
	Set and its code
	Capacity constraint(s)
	Evidence that constraint(s) exist and are serious enough to alleviate
	Why undertake a capacity-building solution in the coming year?

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


	Set and its code
	Capacity constraint(s)
	Evidence that constraint(s) exist and are serious enough to alleviate
	Why undertake a capacity-building solution in the coming year?

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


A7
What amount from your organisation’s allocation to general capacity building is available for the coming year?

Your organisation’s allocation to general capacity-building activities from its total investment budget was specified in the 2nd last row of the table you completed when answering Question A3. This allocation covers all the years covered by that budget. Here you need to specify what amount from that budget is available to be allocated to general capacity-building activities undertaken during the coming year. Insert this dollar value in the box below.

	
	


A8
Knowledge gaps and quality of information

Score the quality of information used to underpin your responses to this form.

Very poor 
Poor
Medium
Good
Very good

1 FORMCHECKBOX 
 (((( 2 FORMCHECKBOX 
 (((( 3 FORMCHECKBOX 
 (((( 4 FORMCHECKBOX 
 (((( 5 FORMCHECKBOX 
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